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MATHEMATICS

TNSTRUCTIONS TO CANDIDATES

l. Wrile your nome, closs ond register number'

2. Do not turn over this poge untilyou ore told to do so.

3. Followollinslructionscorefully.

4. Answerollquestions.

5. The durotion for this poper t hour 20 min.

Seclion A l5

Seclion B 15

Seclion C 20



I

Seclion A
Questions I to 5 corry I mork eoch. Questions 6 to l0 corry 2 morks eoch.
For eoch question, four oplions ore given. One of lhem is the correcl onswer.
Moke your choice 11,2,3 or 4) ond shqde your onswer on the Opticol Answer
Sheet. [5 morks]

l. tn 28l7,lhe digit 8 is in the ploce

(l)

(21

(3)

(41

ones

tens

hundreds

thousonds

2. Whot digit does A represent?

29 9 2

(l )

(2t

{3)

(,4)

3 Which of the following is the equivolent froction ot 1Z5

(1)

l2l

3 A4
XB

(3)

7

2

3

9

2

5

9
I
I
10

9

15

1

(41



4
1

Justin bought o pfuo. His two brothers eoch ote; of the piz:o.
6

He hod of the pizo lefi.

(l) ?
6

1
6

2
6

:
6

t2l

(sl

(4)

5. A piece of wire, 8 m long, is cut into 2 pieces. One piece is 4 m 6 cm
long. Whot is the lenglh of the other piece?

(l) 3 m 4 cm

(21 3m94cm
(3) 4m6cm
(4) 4m94cm

6. Study lhe picture below.

The moss of the lettuce is 

- 

g.

t1)

l2l

t3)

(4)

500

550

600

650

2

lettuce



7 Ihe side of the squore below is 9 cm. Find the oreo of the squore.

9cm

{l )

t2)

(3)

t4l

18 cmz

36 cm2

72 cm2

8l cm2

AondB
aondC
BondC

CondD

8. The figures below ore mode up of l-m squores.
Which 2 figures hove lhe some oreo ond perimeter?

1r'.

A B c D

(r)

(2t

(3)

l4t

3



9. How mony ongles ore there within 3 triongles ond 3 rectongles?

(l)

l2l
(3)

{41

6

7

I5

21

r0. The picture groph below shows the number of erosers thot
3 children hove.

How mony more erosers does Adler hove thon Noncy?

(t)

12)

(3)

(41

21

12

7

4

4

Name of child Number of erasers

Nancy ***

Rani **

Adler *******

Each * stands for 3 erasers.



Seclion B

Questions I I to l5 corry I mork eoch. Queslions 16 to 20 corry 2 morks eoch
Write your onswers in the boxes provided. For questions which require units,
give your onswers in the units stoted. [15 morks]

11. A television progromme storted of 3.55 p.m. ond ended lh l5 min loter
Whot time did the progromme end?

p.m

12. Whot froction of the figure shown below is unshoded?
Write the froction in its simplest form.

r3.
!

lrino bought some flour. She used ; of the flour to moke brownies,

tL
- of it io moke cookies ond : of it to moke muffins.82
Whot froction of the flour did she use?

5



14. Drow o stroight line CD thot is porollelto AB in the grid below.

B

A

15. Study the conloiners shown below.
Find the tolol volume of woter.

500 ml

A

500 ml

c

ml

1Q,

B

6



16. A number is belween 36 ond 45. When ii is divided by 4, the remoinder
is 0. When it is divided by 6, the remoinder is 2. Whot is the number?

l7 Annobelle boughl2 cups of drinks ond o bun
How much did she spend oltogether?

$1.9s $0.55

$

7



18. The flgure below is o reclongle. Drow 2 stroight lines in it so thol you will
gel o totol of 12 right ongles.

19. Dovid is 6 yeors old. Shown is 30 yeors old. How old wilt Dovid be when

Shown's oge is 4limes thot of Dovid's oge ?

veors old

B

,l



20. The incomplete picture groph below shows the number of cokes sold by
Mrs. Lee from Mondoy to Fridoy.

Mondoy Wednesdoy Thursdoy Fridoy

Eoch stonds for l0 cokes.

Mrs. Lee sold 50 more cokes on Fridoy thon on fhursdoy.
Drow the triongles to complete the picture groph obove.

I

AAAA

AAAAA

AAAAAAA AA
Tuesdoy



Section C
ar.tti"ru 21 to 25 cany 4 morks eoch. Show your working cleorly ond wite your
qnswers in the spoces provided. For questions which require units, give your

onswers in the units stoted- [20 morks]

21. Xin Ling bought o rectongulor piece of wropping poper thot meosures

5 m by 2 m. She used o l-m squore piece for his ort project. Whot oreo of

the wropping PoPer wos left?

The oreo

Ans

22. Simon finished pointing his living room ond bedroom of l9 30. He took

2 h l5 min to point his tiving room ond 40 min less to point his bedroom' He

did not toke o breok in between pointing the two rooms. At whot time did

he stort pointing?

Simon storted

r0

Ans:



23. 3 tennis rockets <lnd 4 bosketbolls cost $247.5A.
3 tennis rockets and2 bosketbolls cost $172.50.
Whqt is the cost of 3 tennis rockets?

24.

fhe cosf

Ans:

Bottles A, B ond C contoin 1350 ml of opple juice oltogether.
Bottle A contoins I00 mlmore opple juice thon Bottle B.

Bottle C contoins 250 ml more opple juice thon Bottle A.
How much opple juice does Bottle A contoin?

Bottle A contoins

Ans

1l



25. Benedict used 84 sticks to moke o totol of 22 triongles ond pentogons.

A triongle wos mode using 3 sticks qnd o pentogon wos mode using 5

sticks. How mony pentogons were there?

There were

Ans

Triongle Pentogon

End of Poper

12
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Q19 8 years old.

Q20

Q21 5x2 = 10
10-1=9
The area left was gcmz.

Q22 135-40=95
135+95=230

20 min 3fi 30 min

1540 1600 1900

Simon started painting at 1540

19 30

Q23 $247.50-$172.50=$75
$172.50-$75=$97.50
The cost of 3 tennis rackets is $97.50.

Q24 1350m1 -100m1 -250m1 -100m1 =900m1
900m1 *3=300m1
300m1 +100m1 =400m1
Bottle A contains 400m1 of apple juice in a bottle.

Q25 22x3=66
84-66=18

A
A
A
A
A
A
A

Frid*y 
:



5-3=2
18+2=9
There were 9 pentagons.


